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2.

General Instructions:

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also check
to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the
questioni.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/OS/1, Set - | A |on the Answer-Book.

(@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Guijarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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AW A

1.

2.

Tdeneff TgA-u % Uge UB W UAT s 1Ay fore |

HUAT IIH-U Tl Wi o o T¥A-UF &% Fed IS1 a2 U1 R 3a § e @ Rraht vom us & wed s o 31 39
o <t e W R A R aeA shites wa H 2

TGS ueHt | emueRt 9w faedi (A), (B), (C) @@ (D) H € hig Ueh ST AT 8 a1 &Y T8 St-Yf&reht § 3
@ 3w fafam)

e STy 6 s —ener wot v 35 e et svafer e @ 3 81 v st 5 fora srem & w4 e
e

ITR-Yfeert § uga- g 9 veren fAfde weri o sifaftes wdl ot srgsruies forem wr wdienedf i srra sgaen
S|

T IR-YfER W T¥-0= F i TEA. 63/0S/1, #e - [A]ferd)

(®) T-U= et e/ mem A R o, aR s e A iR S T e s v A s wwa E
SIS, R, 34, Ul sten, afte, wedet, Heis, aep], Aet, St e, hichult, wioTgd, srafe,
JaTett, YN, TEhA SR fash|
U IR-Yferen | fau mu st § ford for s fora s ® s form v 2

(@) afe ama fEh va Rt o sifafvar fordt s o o TR forer €, At wvAl it omem | 2 arelt et /et
& Fer Faer saht gt
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MATHEMATICS
(¥rfoTa)
(211)

Time : 2% Hours] [Maximum Marks : 85
g 2Y gue] [qutie : 85
Note: (1)  Question Numbers (1-10) are Multiple Choice Questions. Each question carries one mark. For each

question, four alternative choices, (A), (B), (C) and (D) are provided, of which only one is correct.
You have to select the correct alternative and indicate it in the answer-book provided to you by
writing (A), (B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark each.

(2)  Question Numbers (16-25) carry 2 marks each.
(3)  Question Numbers (26-33) carry 4 marks each.
(4)  Question Numbers (34-36) carry 6 marks each.
(5)  Allquestions are compulsory.
fdw: (1) o e 1R 10 79 sgfeskedia WA (Multiple Choice Questions) g1 STeiek Wo Geh 37 1 2| STedieh T9 |
R ferked (A), (B), (C) @ (D) fou 73 &, e & et uek wiel 21 STkl W farehe gAAT 8 A Teieh WA 3 ST
AU SW-YFrRT | (A), (B), (C) sieran (D) et oft ferfet 2, formrem giin 21 wem v 11 @ 15 oft o ik i 2|
(2) o9 EEA (16 | 25) Tk Tedeh WA K 2 3k 3
(3) v EEA (26 | 33) Tk Uk U % 4 37k 2
(4) o HEA (34 A 36) Tk Tedeh U9 % 6 37 &
G) |t v fEr 2
1. Which of the following is a rational expression? [1]
7 5 9 = w1 T ufea e 27
2 2
X ++2y
Ay 2 VLY B) 8Jx+6
A 7, (B) Jy
©) 2-+5 D) 27
ofio0
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2.  Which of the following is a pure surd? [1]
e 4 @ A o v g it 20

(A) 3427 (B) /32
© 2422 (D) 25
3. A zero of the polynomial x*—3x—10 is [1]

Tgug x° —3x—10 1 T TIH €

(A) 10 B) -2
<€) 3 (D) 4
4. The point (—5,2) lie in the quadrant [1]
fag (-5,2) Me wguiw A fm g, Je @
(A) 1 (B) II
(C) I (D) IV
5. Two circles are always [1]

(A) Congruent

(B) Neither similar nor congruent

(C) Always similar but may not congruent
(D) Similar and congruent

UG

(A) waiwEm g g

(B) € @uey 3R A § wahem g g

(C) wwEd g § Uty Taimem T8 ot 8 v E|
(D) @9&EY 21d § a1 HEhEH 2 2

EE
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6. The ratio of areas of two similar triangles is 25:16, then the ratio of their

corresponding sides is [1]
QN THEY gl & SRt i SIUTd 25:16 2, At SRt Wi st S I 2
(A) 625:256 (B) 45
(C) 54 (D) 16:25
7. The value of cos®75°—sin®15° is [1]

cos275° —sin215° T AM 3

(A) 1 (B) 2
V3
(®) - (D) 0
.2 ]- 2 1 .
8. sin“A- osiA +cos"A+ oA S equal to [1]
sin’A— +cos’A+ TR
cos’A cot’A &
(A) 1 (B) cos’A
(C) 0 (D) sin’A

9. The area of an equilateral triangle each of whose sides is of length 2 mis  [1]

(A) 43m’ (B) 23m’
(C) 4 m? D) 3m>
T TwaTg Pige R Tee g i e 2 W R, W e §
(A) 43 =i+ (B) 243 =i
(C) 4=t (D) 3 =i
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10.

11.

12.

13.

0.025 in terms of rate percent is [1]
R gfara & & H 0.025 SR

(A) 25%

B) 2.5%

(C) 0.25%

(D) 37%%

Simplify the following [1]
e = o fifso
2Y,(4Y
1) (22
The total simple interest of a principal P at 7% in n years is ¥ X . Find the
25
principal (P). [1]

forelt werem P 1 7% R A p ot o fo s X MY @) @ gt (P) s Rifsw)
25

If the perimeter of a closed semicircle is 36 cm, then find its radius. [1]

T &g IR hl Ui 36 Tt 2, @ sweht B 3 il
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14. In the given figure, sides QP and RQ of APQR are produced to points S & T
respectively. If ZSPR =135° and £PQT =110° find £PRQ. [1]
@ g emRid § APQR it wsnatt QP @un RQ it swen: fargett S @en T aek agrn = 2l
gfe ZSPR =135° qen £PQT =110° & &t £PRQ 7ma Hifvm

S
P ) 135°

15. In the given figure, if PT is tangent to the circle with centre O and £TPO =25°,
then find x. [1]

@ 718 omeRfd |, afg PT g O aret g & w9t v g aen L TPO = 25° 3, @t x 7 i)

T
[/ =,
Q
16. Rati lise the d inat f > [2]
o ationalise ¢ daenominator of —F——.
J3-+/5
% W H URAITHRUT [0

o

17. If sin(A+B)=1,cos(A—B) =1, where 0°<(A+B)<90° and A > B, find A and B.
[2]

afg sin(A+B) =1, cos(A-B)=1% @& 0°<(A+B)<90° @t A>Bg,d Adu B
A hifT]
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18. Evaluate : [2]
U= Fd il ¢
cos47°-cot79° —sin43°-tan11°
19. Find the volume of a right circular cylinder whose height is 13.5 cm and radius
of the base is 7 cm. [2]
13.5 &ft g a2 7 6t SR BeEn & AagHid S 6l ¥ J1d i)
2 : o
20. Rehana got grd the answers correct in an examination. What percent of her
answers were correct? [2]
2
AT A U qdten | 3 gl o T I AUl Tk foram fdea s ad a2
21. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord
of the larger circle which touches the smaller circle. [2]
2 Gehga Tt <t freamd 5 At e 3 At §) 2 o R 34 S i werg 7 R B ga
I w9t T 2
22. Find the value of x for which DE || AB in the given figure. [2]
& 73 emehfd @ DE || AB 2 @ x &1 9 71 ShifsTe|
A B
3x+19 3x+4
D E
x+3 x
C
[=] i ]
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23. ABCD is a rhombus in which ZABC =68°. Find the measure of ZACD. [2]
T aagist ABCD % ZABC=68° 3, @ £ ACD & A 7 Hit|

24. If two different dice are rolled together, then find the probability of getting an
even number on both dice. [2]
3t ot uret it U T IDTE T S ATET U SEEEAT ST <ht Wikl [T it

25. If Mean of a grouped data is 27 and Mode is 45, then what is the value of
Median? [2]
At feredi anfiga oTieRst ot Wi 27 AN Sgeteh 45 2, @ 3ok WILash 1 WiH I 37

26. How many terms of the AP: 9, 17, 25, ---- must be taken to give a sum of 636?

[4]

qaR 9 (AP): 9, 17, 25, ---- o feram ugt @1 aw 636 22

27. Solve the following system of linear equations graphically : [4]
o Waes wviiemut Fepma @it oTera gRT gt it -
xXt+ty=6;x—y=4

OR/3tern
(For visually impaired learners only)
Solve the following system of linear equations:
3x—y=5;4x+3y=11
(gt =it ferenfeia @ fotu wom 27 @ w2 W Uw)
= g wefemw e &1 7o il
3x—y=5;4x+3y=11
63/0S/1-211-A] G-925 9 EHE‘ [ Contd......



28.

29.

30.

63/0S/1-211-A]

Draw a right AABC in which BC = 12 cm, AB =5 cm and £B =90°. Construct

[4]

: o : 2
a triangle similar to it and of scale factor 3

ue wHeRivl Biyw ABC wifere it BC = 12 &Y, AB = 5 &t qen £ B =90° 2| sra @
e & wweu ww o= Bre i e A Ko @he e % 2

OR/ztean
(For visually impaired learners only)
Write the steps of the above construction.
(gfe anfem feremfeiat & foru Sehfeua we)
STk &A1 & g (TR0T) ferfam)

Find the value of m if the co-ordinates (3, 1), (=2, —3) and (8, 2m) are collinear.

[4]
afe &g (3, 1), (-2, -3) @ (8, 2m) €@ § @ m F AW 7@ R

Marks out of 100 obtained by 50 students of class X in Mathematics are given.
[4]

75-80 | 80-85 | 85-90 | 90-95 | 95-100
18 6 7 5 2

70-75
12

Marks

Number of students

Draw a frequency polygon for the data.
e X % 50 fenfofat gru wivra & wd@ien § 100 § & wmw ofw fre wiRon # fu o )

TTHIE 70-75 | 75-80 | 80-85 | 85-90 | 90-95 | 95-100
ferenfofai i wem 12 18 6 7 5 2
SIH TS| o fo1g Teh AREARAT sgys Eiter)
OR/steran
[El[=]
G-925 10 : [ Contd......
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31.

32.

33.

63/0S/1-211-A]

(For visually impaired learners only)

Find the mean of the following distribution.

Class 0-6 6-12 | 12-18 | 18-24 | 24-30
Frequency 5 4 1 6 4
(2 e frenieii 3 forn et woR)
= SRERAT 2 W wiea 7 i
=t 0-6 6-12 | 12-18 | 18-24 | 24-30
TRERAT 5 4 1 6 4

One card i1s drawn at random from a well-shuffled deck of 52 cards. Find the
probability of getting [4]

(1) A king of red colour.

(i1) The queen of diamonds.

52 Uit it 3TESt TRR W et TS A9 <ht TE H W ATgesal Uk g fHewter @l R & ot &
TITreRaT A Hif

(i) T T H AEIE

(i) 3 h aTm|

In an election 75% of the total voters cast their votes. The winning candidates
gets 51% of the cast votes. If the winning person gets 1530 votes, find the total
number of voters in the polling station. [4]

T G H Fet HAgrnatt o 75% A Aie A | SHa a1t Teameit st St 78 et @t 51% @
fiet afg Sfiaa aret &t 1530 ae it 2, @ 38 gATa ohg & Fe dledl hl 9EAn 7 i)

A straight tree is broken due to storm. The broken part is bent in such a way that

the peak of the tree touches the ground at an angle 60° at distance of 23 m.
Find the initial height of the tree. (4]

T Hien W Ug qEH 9 W gg W AR Ui U w6 ger gen Wit 36 wehR i R geen vt
60° 3 on T it A Tt o R U B T A gf 243 W3 Uz B e Se
T R

G-925 11



34.

3s.

36.

A natural number, when increased by 12, equals 160 times its reciprocal. Find
the number. [6]

Teh UTehd ST St 12 | 9gH W g 374 ek & 160 TN & TEE g St gl 9en 7
Hife)

A square of side 4 cm is inscribed in a circle. Find the area enclosed between the

22
circle and the square. {Use T =7} [6]
TS I o ST Ueh 4 Wl WS T A S T I qAT i ok &9 ol URSg SEwe [
22
HRm) [nzT%ﬁm}

Prove that parallelograms on the same or equal bases and between the same
parallels are equal in area. [6]

forg SifsTe o TmTer g, Tt OW =1 U & STUR W E SR U € iR WEnstt o st ferm
2, St # R 2|

363838

[=] et ]

63/0S/1-211-A] G-925 12 %
e



- — a 1 4
mm
H
ais u
HO ui
G
rhH b T
. 4+
L
H » I - HH
: H HEEH HH : Ead
T
b = b




This Question Paper consists of 36 questions and 12 printed pages + Graph Sheet.
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SI. No.

Roll N.o.
ATHAH

CodeNo.  63/0S/1

MATHEMATICS @
( Tl'fﬁ'l?l) set /92| B
(211)

Day and Date of Examination :

(vhen =1 i = fmi=w)

Signature of Invigilators: 1.
(Fritgrsi & garam)

2.

General Instructions:

1.
2.

63/0S/1-211-B] G-925 1

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also check
to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the
questioni.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/OS/1, Set - [B]on the Answer-Book.

(@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Guijarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

[=] 4 (=]
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AW A

1.

2.

Tdeneff TgA-u % Uge UB W UAT s 1Ay fore |

HUAT IIH-U Tl Wi o o T¥A-UF &% Fed IS1 a2 U1 R 3a § e @ Rraht vom us & wed s o 31 39
o <t e W R A R aeA shites wa H 2

TGS ueHt | emueRt 9w faedi (A), (B), (C) @@ (D) H € hig Ueh ST AT 8 a1 &Y T8 St-Yf&reht § 3
@ 3w fafam)

e STy 6 s —ener wot v 35 e et svafer e @ 3 81 v st 5 fora srem & w4 e
e

ITR-Yfeert § uga- g 9 veren fAfde weri o sifaftes wdl ot srgsruies forem wr wdienedf i srra sgaen
S|

O STR-YfEeR W IH-U= W hiE Fe. 63/0S/1, #e - [B |ferdl

(®) T-U= et e/ mem A R o, aR s e A iR S T e s v A s wwa E
SIS, R, 34, Ul sten, afte, wedet, Heis, aep], Aet, St e, hichult, wioTgd, srafe,
JaTett, YN, TEhA SR fash|
U IR-Yferen | fau mu st § ford for s fora s ® s form v 2

(@) afe ama fEh va Rt o sifafvar fordt s o o TR forer €, At wvAl it omem | 2 arelt et /et
& Fer Faer saht gt
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MATHEMATICS
(¥rfoTa)
(211)

Time : 2% Hours] [Maximum Marks : 85
g 2Y gue] [qutie : 85
Note: (1)  Question Numbers (1-10) are Multiple Choice Questions. Each question carries one mark. For each

question, four alternative choices, (A), (B), (C) and (D) are provided, of which only one is correct.
You have to select the correct alternative and indicate it in the answer-book provided to you by
writing (A), (B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark each.

(2)  Question Numbers (16-25) carry 2 marks each.
(3)  Question Numbers (26-33) carry 4 marks each.
(4)  Question Numbers (34-36) carry 6 marks each.
(5)  Allquestions are compulsory.
fdw: (1) o e 1R 10 79 sgfeskedia WA (Multiple Choice Questions) g1 STeiek Wo Geh 37 1 2| STedieh T9 |
R ferked (A), (B), (C) @ (D) fou 73 &, e & et uek wiel 21 STkl W farehe gAAT 8 A Teieh WA 3 ST
AU SW-YFrRT | (A), (B), (C) sieran (D) et oft ferfet 2, formrem giin 21 wem v 11 @ 15 oft o ik i 2|
(2) o9 EEA (16 | 25) Tk Tedeh WA K 2 3k 3
(3) v EEA (26 | 33) Tk Uk U % 4 37k 2
(4) o HEA (34 A 36) Tk Tedeh U9 % 6 37 &
G) |t v fEr 2
1. 0.025 in terms of rate percent is [1]
R fder & ¥ H 0.025 =R
(A) 25%
B) 2.5%
() 0.25%

(D) 37%%
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2. The area of an equilateral triangle each of whose sides is of length 2 mis  [1]

(A) 43m’ B) 23m>
C) 4m’ D) 3m?
T GuaETg PIgs ek T WS Rl FaTs 2 W g, 8w ¢
(A) 443 =i (B) 23 =it
(C) 4=t D) 3 =
. 2 1 2 1 .
3. sin"A- os’A +cos"A+ oA S equal to [1]
sinA— oA + cos’A+ oCA TR B
(A) 1 (B) cos’A
© 0 (D) sin’A
4. The value of cos*75°—sin*15° is [1]

c0s275° —sin?15° I AE g

(A) 1 (B) 2

(© g (D) 0

5. The lengths of sides of a triangle (in cm) are given below, in which case

construction of a triangle is possible? [1]
Frgw it genett i cagal (A H) = € g ¥ e e | Bye R e ava ge
(A) 1,2,3 (B) 4,4,8
©) 5,3,9 (D) 8,7,3
ok:0|
63/0S/1-211-B] G-925 4 #Tee [ Contd......



6. The point (—5,2) lie in the quadrant [1]
fag (-5,2) Me wguiw A fm g, J @
(A) 1 (B) II
(©) I (D) IV
7. The ratio of areas of two similar triangles is 25:16, then the ratio of their
corresponding sides is [1]
QN THEY gl & SRt i SIUTd 25:16 2, At SRt Wi st S AT 2
(A) 625:256 (B) 435
(C) 54 (D) 16:25
8. A zero of the polynomial x> —3x—10 is [1]
Tgug x° —3x—10 1 T YIH €
(A) 10 (B) -2
© 3 (D) 4
9. Which of the following is a pure surd? [1]
e 4 @ 9 o v v ol 20
(A) 327 (B) 32
©) 2722 (D) 25
10. Which of the following is a rational expression? [1]
1 5 | 1 o1 T uRea = 27
X ++/2y°
A) —F/——— B) 8J/x+6
A sy (B) 8Vx+6yy
©) 2-45 D) 27
ok:0|
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11.

12.

13.

14.

In the given figure, if PT is tangent to the circle with centre O and L TPO =25°,
then find x. [1]
& g oTepid |, Al PT hg O aret 9= &t w9t W@ @ den L TPO =25° 2, at x 7 ShifTe|
T
[/ =,
Q
In the given figure, sides QP and RQ of APQR are produced to points S & T
respectively. If ZSPR =135° and £PQT =110° find £PRQ, [1]
@ g amepfa § APQR i yeneit QP @en RQ @t shwwt: forgett S aen T @k sgren T 2
afy ZSPR =135° qen £ PQT =110° 3, & £PRQ 3 Hiftr)
S
P 0 135°
110°
T € 0 R
The total simple interest of a principal P at % in n years is ¥ X Find the
25
principal (P). [1]
forelt werem P 1 1% R A p ot o forg s X MY @) A gt (P) s hifsw)
25
If the perimeter of a closed semicircle is 36 cm, then find its radius. 1]

T & IR ht Ui 36 Tt 2, A sweht B 3 i

63/0S/1-211-B] G-925 6 SRES [ Contd..



15.

16.

17.

18.

19.

Simplify the following [1]
e = o fifse

)

If two different dice are rolled together, then find the probability of getting an
even number on both dice. [2]

3 i TTEt T U W1 3BT T S UTE O FHEEAT 37 hl TRkt T ShifTu|
If Mean of a grouped data is 27 and Mode is 45, then what is the value of

Median? [2]
afe Rl enffera stienel 1 wiear 27 Qe sgeTeh 45 €, T Seh HIeTeh Sh1 W I 27

Find the value of x for which DE || AB in the given figure. [2]

@ 2 st ® DE || AB 3 @ x st WH 1 SifTu)

3x+19 3x+4

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord
of the larger circle which touches the smaller circle. [2]

A wehdra ol <Rt By 5 At qen 3 At F) @12 oW R 37 Sfen Y Serg 7 B S B Ta
9w 2l

63/0S/1-211-B] G-925 7 EI? = [ Contd......



20. Find the volume of a right circular cylinder whose height is 13.5 cm and radius
of the base is 7 cm. [2]
13.5 wft 3g qan 7 |t 3R Been & dagid S i € J1d i)
2 : o
21. Rehana got grd the answers correct in an examination. What percent of her
answers were correct? [2]
c 2
1 A Tk qdten | 3 g o T& I fU| SEeh foha afdea S Ed 97
22. Evaluate : [2]
U= F1d il ¢
cos47°-cot79° —sin43°-tanl1°
23. In figure AB||CD, ZBOD =127°, ZOAB=68°, find £ABO. [2]
§ g el @ AB||CD, ZBOD =127° aan LZOAB =68° g, @t £LABO zma Sifsm)
pa A B S
~ 680 7
0 127°
< C D >
24. Rationalise the d inator of > [2]
. Rationalise the denominator of —=———=.
V3-45
% W H URAITHRUT [0
Na
ok:0|
63/0S/1-211-B] G-925 8 El? [ Contd......



25. If sin(A+B)=1, cos(A-B)=1, where 0°<(A+B)<90° and A > B, find A and B.
[2]
afg sin(A+B) =1, cos(A-B)=1%,w@& 0°<(A+B)<90° aan A>Bg,a Aaur B

Fa Fifsm)

26. The number 42 divided into two parts such that one part is equal to square of
another part, then find the two parts. [4]
@A 42 AW | 3H YRR Siel T R TR WET, g WA a9 o §HE gl GF1 HE
HifTu)

27. The shadow of a tower becomes longer by 10 m, when the angle of elevation of
sun changes from 60° to 45°. Find the height of the tower. [4]
& & 3T A0 60° | 45° TR W Tk WAR H B 10 H 58 It 2| AR B S
HifTu)

28. In an election 75% of the total voters cast their votes. The winning candidates
gets 51% of the cast votes. If the winning person gets 1530 votes, find the total
number of voters in the polling station. [4]
T JATE H e WAGett o 75% J e Tet| Siiad et Tt i STt T aet i 51% ae
firet afe Sfiem are =8t 1530 aie et g, @ 39 gATE g & $e diedl i 96 Jd i

29. One card is drawn at random from a well-shuffled deck of 52 cards. Find the
probability of getting [4]
(1) A king of red colour.

(i1) The queen of diamonds.
52 il i TS THR | Wl TZ qT9 ht TG H 8 Ageod1 Tk ux fHehren el 7 & o &
TifreRan A At -
(i) e T TAEIE|
(i) % amm)
ok:0|
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30. Find the value of m if the co-ordinates (3, 1), (-2, —3) and (8, 2m) are collinear.

31.

63/0S/1-211-B]

afe &g (3, 1), (-2, -3) @ (8, 2m) €@ § @ m F AW 7 R

[4]

Marks out of 100 obtained by 50 students of class X in Mathematics are given.

[4]

Marks

70-75

75-80

80-85

85-90

90-95

95-100

Number of students

12

18

6

7

5

2

Draw a frequency polygon for the data.

el X & 50 frenfoiai gr wivra <t wd@en & 100 & & " of = anivon & e o §)

qTHTh

70-75

75-80

80-85

85-90

90-95

95-100

ferenfer & e

12

18

6

7

5

2

UK ARSI o fo1g Teh ARARAT SgHs Tite)

OR/a1=n

(For visually impaired learners only)

Find the mean of the following distribution.

Class

0-6

6-12

12-18

18-24

24-30

Frequency

5

4

1

6

(gfe anfem feremieiat & foru Sehfeua we)

= arERar sea & e 7 A

=

0-6

6-12

12-18

18-24

24-30

ARERAT

5

4

1

G-925

10



32. Draw a right AABC in which BC = 12 cm, AB =5 cm and £B =90°. Construct

33.

: . : 2
a triangle similar to it and of scale factor 3

[4]

ue wHeRivl Biyw ABC wifere it BC = 12 &Y, AB = 5 &t @en £ B =90° 2| sra @

e & wweu v s Bre i e il Ko whe ot % 2

OR/3tan
(For visually impaired learners only)

Write the steps of the above construction.
(gfe anfem feremfeiat & foru Sehfeua we)
Iqh TEAT & U2 (=rn) ferfam)

Solve the following system of linear equations graphically :

= g wfiewo e =t sera g 2o Ao
xX+y=6;x—y=4
OR/31@n

(For visually impaired learners only)

Solve the following system of linear equations:
3x—y=5;4x+3y=11

(gt =it ferenfei o fote wom 27 % wom W Iw)

= g wefemw e =61 7o Rl

3x—y=5;4x+3y=11

63/0S/1-211-B] G-925 11

[4]



34.

3s.

36.

63/0S/1-211-B] G-925 12

Find LCM and HCF of @® +b* —c¢* +2ab, ¢* +a* —b*> +2ca and b*> +c¢* —a” + 2bc .
[6]

a’+b>—c* +2ab, ¢* +a’ —b* +2ca qen b* + ¢ —a® + 2be @ @A, (LCM) a2 1.4.

(HCF) 7 $ifm

Prove that parallelograms on the same or equal bases and between the same

parallels are equal in area. [6]

g Ao for TR T, S AEE =0 U SUR W g SR Uk @ v Wt & s fem
2, 9w | SR 2

A square of side 4 cm is inscribed in a circle. Find the area enclosed between the

22
circle and the square. Use 7 = 7 [6]

Teh I o 3T Ueh 4 TF YT 1 1 Wien T I U1 9 % Ste ol UNeg She T

=20

363838

[=] 4 (=]
L
O
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This Question Paper consists of 36 questions and 12 printed pages + Graph Sheet.
A A9-9A | 36 Wed aen 12 gfga ys § + ww Pl

SI. No.

Roll N.o.
ATHAH

CodeNo.  63/0S/1

MATHEMATICS
(afore) set /8¢ |C
(211)

Day and Date of Examination :

(vhen =1 i = fmi=w)

Signature of Invigilators: 1.
(Fritgrsi & garam)

2.

General Instructions:

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also check
to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the
questioni.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/OS/1, Set - on the Answer-Book.

(@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Guijarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

EEE
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AW A

1.

2.

Tdeneff TgA-u % Uge UB W UAT s 1Ay fore |

HUAT IIH-U Tl Wi o o T¥A-UF &% Fed IS1 a2 U1 R 3a § e @ Rraht vom us & wed s o 31 39
o <t e W R A R aeA shites wa H 2

TGS ueHt | emueRt 9w faedi (A), (B), (C) @@ (D) H € hig Ueh ST AT 8 a1 &Y T8 St-Yf&reht § 3
@ 3w fafam)

e STy 6 s —ener wot v 35 e et svafer e @ 3 81 v st 5 fora srem & w4 e
e

ITR-Yfeert § uga- g 9 veren fAfde weri o sifaftes wdl ot srgsruies forem wr wdienedf i srra sgaen
S|

T STR-YfEeR W T¥-U= F e TEA. 63/0S/1, #e - [C | ferd

(®) T-U= et e/ mem A R o, aR s e A iR S T e s v A s wwa E
SIS, R, 34, Ul sten, afte, wedet, Heis, aep], Aet, St e, hichult, wioTgd, srafe,
JaTett, YN, TEhA SR fash|
U IR-Yferen | fau mu st § ford for s fora s ® s form v 2

(@) afe ama fEh va Rt o sifafvar fordt s o o TR forer €, At wvAl it omem | 2 arelt et /et
& Fer Faer saht gt
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MATHEMATICS
(¥rfoTa)
(211)

Time : 2% Hours] [Maximum Marks : 85
g 2Y gue] [qutie : 85
Note: (1)  Question Numbers (1-10) are Multiple Choice Questions. Each question carries one mark. For each

question, four alternative choices, (A), (B), (C) and (D) are provided, of which only one is correct.
You have to select the correct alternative and indicate it in the answer-book provided to you by
writing (A), (B), (C) or (D) as the case may be. Q. No. 11 to 15 also carry one mark each.

(2)  Question Numbers (16-25) carry 2 marks each.
(3)  Question Numbers (26-33) carry 4 marks each.
(4)  Question Numbers (34-36) carry 6 marks each.
(5)  Allquestions are compulsory.
fdw: (1) o e 1R 10 79 sgfeskedia WA (Multiple Choice Questions) g1 STeiek Wo Geh 37 1 2| STedieh T9 |
=R e (A), (B), (C) @t (D) fau &, s | sheret Tk Wl 2l A0kl Tt forehod 1 2 7ol Tedieh I o I
T SRt # (A), (B), (C) 3weran (D) St oft feufer 2, foraem g 21 wem e 11 @ 15 ofi wh i i 2|
(2) o9 EEA (16 | 25) Tk Tedeh WA K 2 3k 3
(3) v EEA (26 | 33) Tk Uk U % 4 37k 2
(4) o HEA (34 A 36) Tk Tedeh U9 % 6 37 &
(5) woft uww afvamd §
1. The value of cos*75°—sin*15° is [1]

cos275° —sin15° T AM 2
(A) 1

(B) 2

(©)

J3
2

(D) 0

63/0S/1-211-C] G-925 3 EEEJ [ Contd......



sin’A— + cosA+ i
2. oA oA is equal to [1]
sin’A— + cos*A+ SR 1)
cos’A cot’A &
(A) 1 (B) cos’A
© 0 (D) sin’A

3. The ratio of areas of two similar triangles is 25:16, then the ratio of their

corresponding sides is [1]
QN THEY gl & SRt i SITUTd 25:16 2, At SRt Wi st S ST 2
(A) 625:256 (B) 435
(C) 5:4 (D) 16:25
4. The distance of the point P(-6, 8) from the origin is [1]
fag P(-6, 8) it Heifag & gt 2
(A) 8 (B) 27
©) 10 (D) 6
5. A zero of the polynomial x> —3x—10 is [1]

Tgug x° —3x—10 1 T YE €
(A) 10 (B) -2
© 3 (D) 4

63/0S/1-211-C] G-925 4 Eﬁ%‘ [ Contd......



6.

63/0S/1-211-C] G-925 5 Eﬁ%‘ [ Contd

Which of the following is a pure surd?

e 4 @ A o v g it 20
(A) 327 (B) /32
©) 2422 (D) 25

Which of the following is a rational expression?

7 5 | 1 o1 T uRea = 27
X ++/2y°
A —F— B
(A) \/gx_y (B) 8\/;+6\/§
©) 2-+/5 D) 2z

The area of an equilateral triangle each of whose sides is of length 2 m is

(A) 43m? (B) 2/3m’
(C) 4 m’ D) 3m?
T Gy i R e o e 2 @ Y, w1 e §
(A) 43 =i (B) 23 =i
(C) 4=t (D) /3 =i

0.025 in terms of rate percent is

R gfaed & w9 # 0.025 TR 2 :
(A) 25% (B) 2.5%
(©) 0.25% (D) 37%2%

[1]

[1]

[1]

[1]



10.

11.

12.

13.

Two circles are always [1]

(A) Congruent

(B) Neither similar nor congruent

(C) Always similar but may not congruent
(D) Similar and congruent

& N He

(A) watTEw g g

(B) 7 & w9&y 3R 7 & gatmEd 2 2l

(C) W&y g § wg wanmem T8 oft @ dehd 2
(D) T=EY ga E au gaiTEd g 8

The total simple interest of a principal P at 7% in n years is ¥ X Find the
25

principal (P). [1]

forelt werem P 1 1% R A p ot o fog s X MY @) @ gt (P) s Rifsw)
25

If the perimeter of a closed semicircle is 36 cm, then find its radius. [1]

T & IR ht Ui 36 Tt 2, A sweht B 3 i

In the given figure, sides QP and RQ of APQR are produced to points S & T
respectively. If ZSPR =135° and £PQT =110°  find £PRQ, [1]
@ g amepfa § APQR i yeneit QP @en RQ @t shwwt: forgett S aen T @k sgren = 2
afy ZSPR =135° qen £ PQT =110° g, & £PRQ g Hifv)

63/0S/1-211-C] G-925 6 EEEJ [ Contd......



14. In the given figure, if PT is tangent to the circle with centre O and £ZTPO =25°,

15.

16.

17.

18.

then find x. [1]
& 3 ammeRfa ®, At PT shg O et g &t gt wan g aen L TPO =25° 2, 4t x 7 i)
T
[ =
Q
Simplify the following [1]
= = e hifso

i)

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord
of the larger circle which touches the smaller circle. [2]

2l Hehella Tl <1 roamd 5 Gt den 3 Bt §) 92 9@ <l 34 Sfen Rl S WA i S8 gd
w1 w9l T )

2
Rehana got Efd the answers correct in an examination. What percent of her

answers were correct? [2]

e v e 5 ) s e s 17

Find the volume of a right circular cylinder whose height 1s 13.5 cm and radius
of the base is 7 cm. [2]
13.5 &ft g a2 7 6t SNUR BeEn & Aagwid S 6l SAEa J1d i)

[=] i [m]

63/0S/1-211-C] G-925 7 Eﬁ [ Contd......



19.

20.

21.

22.

Evaluate : [2]
U= Fd il ¢

cos47°-cot79°—sin43°-tan11°

If sin(A+B) =1, cos(A—B) =1, where 0°<(A+B)<90° and A > B, find A and B.

[2]
afg sin(A+B) =1, cos(A-B)=13% @& 0°<(A+B)<90° @an A>Bg,a Aau B
T R

5
Rationalise the denominator of ———+. 2
NG 2l

\/— 7 * T URETSOT )

In the given figure, AD is the bisector of ZA intersecting BC at D. If AB = 4.2 cm,
BD =4 cm and DC = 6 cm, then find x. [2]

B 4 cm D 6 cm C

@ T smepfa @ AD WU A w1 \Hfgus g @ BC ®t D W wean 21 afe AB = 4.2 i,
BD = 4 @t wen DC = 6 @t 2, @t x 71d hifwu)

63/0S/1-211-C] G-925 8 Eﬁ%‘ [ Contd......



23.

24.

25.

26.

27.

28.

29.

If two different dice are rolled together, then find the probability of getting an
even number on both dice. [2]

3t 1 arEl A U WY IBTAT TR S U W SHEEAT 3T hl TRt Fd hifetg|

If Mean of a grouped data is 27 and Mode is 45, then what is the value of
Median? [2]
afe fordl wrfiepa aTieRgt ot mear 27 @en geteh 45 B, Tl 3k Wi 1 W I 7

ABCD is a rhombus in which ZABC =68°. Find the measure of ZACD. [2]
T THegdst ABCD & ZABC =68° 2, @t ZACD & 6 7 #hifsu)

Factorise : [4]
TUTEUEA HIWT :
X +x—(a+1)(a+2)

Find the lengths of sides of a triangle ABC whose vertices are A (4, 3), B (3, -2)
and C (5, =7). [4]
34 Brgs ABC &t gt i ofamgat i Shitete foweek 3w A (4, 3), B (3, -2) @en C (5, —7)
H

A straight tree is broken due to storm. The broken part is bent in such a way that

the peak of the tree touches the ground at an angle 60° at distance of 23 m.
Find the initial height of the tree. (4]

T Hien W Ug qEH 9 W gg W AR Ui U w6 gen gen Wit 36 R i R geent vt

60° 3 0T T 9 T F o R U3 R S A gl 24/3 T R U R il e
Fa hifg|

In an election 75% of the total voters cast their votes. The winning candidates
gets 51% of the cast votes. If the winning person gets 1530 votes, find the total
number of voters in the polling station. [4]
T YA H Fed HAgnadt o 75% A Ale S| S Aret Seameit st S T ael &t 51% aie
et afe Sfiaw a @t 1530 e e g, @ 38 AT hg o Fe dtedl Thl AT [ i)

63/0S/1-211-C] G-925 9 EEEJ [ Contd......



30.

31.

One card i1s drawn at random from a well-shuffled deck of 52 cards. Find the

probability of getting

(1) A king of red colour.

(i)

The queen of diamonds.

[4]

52 Uit it TSt TRR W et TE A9 <ht TE H W ATges Al Uk g femten @l R & ot &

TTRreReT A <hif
(i) < T FAEIE|
(i) Ze & am|

Marks out of 100 obtained by 50 students of class X in Mathematics are given.

[4]

Marks

70-75

75-80

80-85

85-90

90-95

95-100

Number of students

12

18

6

7

5

2

Draw a frequency polygon for the data.

e X & 50 frenfoiat gra nifvra &t wdien & 100 ® & 9 of f aiont # fu o §)

BRIED 70-75 | 75-80 | 80-85 | 85-90 | 90-95 | 95-100
ferenfofat < dwn 12 18 6 7 5 2
iR siierEl 3 foTg U ARl gy Wi
OR/aan
(For visually impaired learners only)
Find the mean of the following distribution.
Class 0-6 6-12 | 12-18 |18-24 |24-30
Frequency 5 4 1 6 4
(gfe anfem foremieiat & foru Sehfcua we)
= aRERa sea @ wen 7w wi
=t 0-6 6-12 | 12-18 | 18-24 | 24-30
FRERAT 5 4 1 6 4
63/0S/1-211-C] G-925 10 E’% [ Contd......
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32. Solve the following system of linear equations graphically : [4]
= e wftemon ferm =it ster@ gr g il

xXt+ty=6;x—y=4
OR/aan

(For visually impaired learners only)

Solve the following system of linear equations:
3x—y=5;4x+3y=11

(gt =it ferenfeiai @ fotu wom 27 @ w2 W Uw)

1 e wriierton ferm 1 gat hif

3x—y=5;4x+3y=11

33. Draw a right AABC in which BC = 12 cm, AB =5 cm and £B =90°. Construct

2
a triangle similar to it and of scale factor 3 [4]

ue wHahivl B1s ABC wifee it BC = 12 &5ft, AB = 5 st aan £B =90° 3| s 3@
e & wweu wE o= Brae i e A Ko @he e % 2l

OR/aan
(For visually impaired learners only)
Write the steps of the above construction.
(gfe anfem foremieiat & foru Sehfeua we)
Iqh AT & U2 (=rn) feifam)

63/0S/1-211-C] G-925 11 EEEJ [ Contd......



34.

3s.

36.

63/0S/1-211-C] G-925 12

A square of side 4 cm is inscribed in a circle. Find the area enclosed between the

22
circle and the square. Use 7 = 7 [6]

TS I o ST Ueh 4 Wl WS T A S T I qAT i ok &9 ol URSg SEwe [
HRm) [nz%%ﬁm}

A natural number, when increased by 12, equals 160 times its reciprocal. Find
the number. [6]

T WTehd T St 12 ¥ FgH W I8 3704 Fohd o 160 TN & FHH g It 21 e 7|
EURK

In a AABC, AD is perpendicular to BC, prove that AB*+CD* = AC*+BD’.[6]

ws fs ABC ® AD 9ot BC W @@= 2| fag @ifsw 8 AB°+ CD? = AC*+ BD?

363E b

For any help related to admission in NIOS please contact
SS Coaching @9935035316
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